Moltiplica i decimali per 10,100,1000

3,59 x 100 =

10,342 x 100 =

9,122 x 10 =

6,633 x 10 =

6,543 x 100 =

7,457 x 10 =

5,815 x 100 =

6,215 x 1000 =

8,234 x 10 =

1,827 x 10 =

Data: Punteggio:

6,663 x 10 =

2,668 x 10 =

9,757 x 10 =

4,429 x 1000 =

5,059 x 10 =

5,599 x 1000 =

2,056 x 10 =

10,379 x 10 =

5,692 x 1000 =

4,365 x 100 =
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Nome: Data: Punteggio:
3,59 x 100 = 359 6,663 < 10 = 66.63
10, 342 x 100 = 1034.2 2,668 x 10 =26.68
9,122 x 10 =91.22 9,757 x 10 =97.57
6,633 x 10 = 66.33 4,429 x 1000 = 4429
6, 543 x 100 = 654.3 5,059 x 10 = 50.59
7,457 x 10 =74.57 5,599 x 1000 = 5599
5,815 % 100 = 581.5 2,056 x 10 =20.56
6,215 x 1000 = 6215 10,379 x 10 = 103.79
8,234 x 10 = 82.34 5,692 x 1000 = 5692
1,827 x 10 = 18.27 4,365 x 100 = 436.5
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